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e 14X Eih | BB AR RITEM i1 L
BEHN 8E (=i 5kg 5= kg 900 EE
BEHN 102 = 5kg 5= kg 850 EE
Vi 24/25E o 5kg ] kg | 1,150
7V 7/8kg dbiEE 1A 7 kg | 1,450 EE
754 2E FE 8/10kg 8 kg 850 i
754 3B FE 10/12kg 8 kg 800 i
175 6 iEE | 9/11keg 5= kg 600 TE
175 4E BF 6.5kg 8 kg 700 EiE
huA 3kg BER 1A #a kg | 1,500 £
KA \F 3E f& [ 6/7kgd B kg | 2,300 TE
A TR 4E I 3kegE & ke | 3,800 FEX HERE
I 7R 6 = 1% 6/7kg i kg | 1,800 EiE
D= 1.5/2kg &5 1A b kg | 3,500 FE FX
ES<Y K)=S &5 dkgB 78 kg | 1,500 EE
TATH 2/38 -1 2/3kg ] kg | 4,300 TBE
ARXF 2E = 3/4kg i kg | 4,000 TBE
£ EYINE BIE 500g i P | 2200
H7a 102 e P P | 1,500
BE7 102 BHE 1kg P P | 3500
BEYHT 40/50g A 1& kg | 2,800
EHHT 50/60g = & kg | 2,700




